Vectors - Class XIlI

Past Year JEE Questions

Questions

Quetion: 01

If (7{ + 37;) is perpendicular to (771’ - 57;) and (Tz’ - 477)) is perpendicular to (771’ - 27;)

N
then the angle between @ and b (in degrees) is

Solutions

Solution: 01

Answer
Correct Answer is 60

Explanation

2 -2 —
= 7@ = 15[b| 167 B =0..(1)

Also, (7 - 43) . (77 - 2?) -0

Equation (1) x 30

I
o

2 -2 —
210[3| -450|b| +4807 . b =0..03)
Equation (2) x 16

502 -2 L -
112[3) +128|b| — 4803 . b =0....(4)
from (3) & (4)

2 —12
3320 = 332[ |

2 2
= [@]"= 2]
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From equation (2),



> 153" = 30[@].[7] cos o

_15_ 1
cosf = 3= 2

50 =60°



